@

% A
O b VWV [4 O
|
Al 2
POSITION GASKET ON END OF VALVE SO
GASKET SEALS PILOT HOLE,
BOTH SIDES (SIDE 'A' SHOWN)
NOTES:
1) ALWAYS GIVE VALVE MODEL AND PART NUMBER WHEN ORDERING PARTS.
— 2) MINIMUM SHIFT PRESSURE OF 12 PSI ON PISTON PILOT PORTS.
—
\ 0 4 |58 SCREW, 5/16-18 X 3-1/4, HEX HEAD, PLATED
T 1/8" NPTF @ 19 4 |v-104s STAR WASHER 5/16" STAINLESS STEEL.
PILOT PORT B 4 |v-1055 NUT, 5/16-18, HEX, STAINLESS STEEL
@ @ 7] 2 |van SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, STAINLESS STEEL
@ 6] 1 |14 NAMEPLATE, BLANK, FOR VALVES WITH SPRINGS OR DETENTS
s @ 5] 1 |V O-RING, BUNA-N, 70 DURO, AS-110, (REF 3/8 X 9/16 X 3/32), 1" & 2" SUBPLATE PILOT
7 14| 1 |peECes PISTON - ENDCAP, BLIND, 1/2", 3/4" & 1" VALVE -
Q B 1 |V NUT, 3/8-16, HEX, PLATED
6 @ ] 1 |vn WASHER FLAT 3/8" CADIUM PLATED FOR ALL PISTON OPERATORS
] 1] 2 |vin U-CUP, 3 X 2:9/16 X 7/32, NITRILE
y\ i \\§ 0] 1 |vegA 3" PISTON - 3 POS, 1/2', 3/4" & 1" VALVE
9| 1 [ BARREL, 3/4" & 1" VALVE
R 1/4" NPTE 8| 2 |vi66 GASKET - PISTON BARREL, 1/2", 3/4' & 1" VALVE
PILOT PORT | 7 | 1 |PRCv4s PISTON - ENDCAP, 3-P0S, 1/2', 3/4" & 1" VALVE
I = / 6| 1 |10 O-RING, BUNAN, 70 DURO, AS-114, (REF 5/8 X 13/16 X 3/32), 1/4" SLEEVE, 1/2" SUB, STACK
— —— H 5| 1 |Av-Prs SPRING CENTER SPOOL ASSY, PISTON - 3/4 + 1
c—— —— (0] SIDE ‘A" 4| 8 |v46 SCREW, 1/4-20 X 3/4, SOCKET HEAD CAP
k i 3| 2 [eces GASKET - END CAP, 1/2", 3/4" & 1" VALVE s
= = 2| 6 |va0 O-RING, BUNA-N, 70 DURD, AS-220, (REF 1-3/8 X 1-5/8 X 1/8), 3/4" & 1" VALVES B
1] 1 |88l BODY, 1" SIDE PORT, UPPER PILOTS, ANODIZED g
FLG| QTY | PARTNO |DESCRIPTION £)
/X £
LIMITS ON DIMENSIONS §:Et Eﬁgmtiﬂés AAA{ Imgﬁg%%ﬁl;\sl_ 5
OTHERWISE SpeCiFip TRACTIONAL £ 1764 | S 2 7114 Harry Hines Bivd |3
SECTION A-A ANGULAR  1/2 TERRATONAL Dallas, TX 75235 i
SCALE 3/4 (? (é) DRAWN: RMcKenna DATE: 9/27/2014 CHECKED: KWaite DATE: 3/26/2015 g
T T SCALE: 3/4 SHEET: 1 OF 1 RELEASED: HWomack DATE: 3/26/2015 8
VIEW FROM 3 PORT SIDE — T c
—>]L \1 TTT / / |- 1" SIDE PORT, PISTON, 3 POS,
RN SPR CTR, PISTON SHFT, CLSD CTR SPL PY8 :
(=}

4 I 3 2 THE INFORMATION CONTAIQED WITHIN THIS DOCUMENT IS PROPRIETARY TO Af\A PRODUCTS AND MAY NOT BE DISCLOSED
WITHOUT PRIOR WRITTEN CONSENT



